d°c/dp_,dy [pb/GeV]

Ratio to ATLAS

T

10?

10

[EEY

0.5

7000 GeV pp Jets
_I T I T | T I T I T I T I T T I T I T I T I T T I T I T I T I T T I T I T I T I T |_
- 8 ]
— \g\\ —
E \-\\\ E
:— “\\&‘:\ —:
- RS -
L I _|

.. N
_  m  ATLAS Sg —
= --0O-- Herwig++ 2.6.2 default 3
— --d-- Herwig 7.2.0 default —
. S I P U P U PR I AN VR A I I S I
- @"'@ _____ _@\\ _ : /' ’ \\\\\\ ]
BT ,,,::—'@:::::;x i

o g S W

\\\\\\ ; |

N 0

M
| 1

|

!

1 1 " | " 1 1 " 1 1 " | " 1 1 " 1 1 " | " 1 1 1 1 " | " 1 1 : 1 1 " |

100 200 300 400 500

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


